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21 1
21 4 2
pH | copo | Do PO,~P | NH,=N | NO,-N | NOs-N | sS
(mg/L)|(mg/L) (Lg/L)|(Lg/L)|(Kg/L)|(kg/L)[(mg/L) )
1/11:03| o 8.4 29.71 8.2| 0.4 9.4 96.0 28| 115 15| - 71 3.5
4.5 | 4.0 7.9| 32.5| 8.3 0.7 10.2| 104.6 8 19 4 -
2|10:50| © 8.0 32.6| 8.3 0.4] 10.4| 106.6 6 6 2| - 71 2.3
6.0 | 5.5 7.9| 32.6| 8.4 0.7 10.7| 109.6 7 7 2| -
3[10:42| o0 8.3| 32.4| 8.4 1.6| 10.8] 111.6 6 7 2| - 7
2.5 | 2.0 8.3| 32.4| 8.4 o0.6| 10.4| 107.6 5 8 2| -
4l11:14| o0 8.4 32.2| 8.3 0.4/ 10.0] 104.0 8 7 2| - 6
3.0 | 2.5 8.4 32.2| 8.3 0.2 10.1] 104.4 8 9 3| -
5(11:21| o0 9.2| 31.2| 8.3 1.71 9.2 95.7 11 11 4 - 8
2.0 | 1.5 9.0/ 31.7| 8.3 0.5 9.4 98.4 10 14 4 -
6/10:30| O 7.7| 32.6] 8.2| 0.2 9.7 99.7 8 10 3l - 10 2.5
9.5 | 9.0 7.6| 32.71 8.2| 0.3 9.9 100.8 7 9 3| -
71 10:00| © 7.8 20.5| 8.3 0.7 9.9 93.3 7 7 2| - 9| 2.5
3.5 | 3.0 7.7| 32.4] 8.3 1.71 9.9| 101.6 8 7 2| -
gl10:10| o0 7.8| 32.4] 8.3 0.5/ 9.9 101.0 5 8 2| - g| 2.8
4.0 | 3.5 7.7| 32.5| 8.3 0.3 9.9 101.0 7 9 2| -
9[11:33| o 8.1| 32.1| 8.3 0.6/ 9.9 101.4 9 7 3 - 13 1.8
4.0 | 3.5 8.0| 32.1| 8.3 0.6/ 9.9 101.6 10 7 3| -
10l 9:12 | o0 8.0 32.2| 8.2 0.9 9.7 99.7 6 9 3| - 10
2.5 | 2.0 8.0/ 32.2| 8.2 0.4 9.7 99.2 4 8 2| -
11/ 9:19 | o0 8.2| 31.5| 8.2| 0.7 11.2] 114.4 7 7 3l - 9| 2.1
3.0 | 2.5 7.9| 32.1| 8.2 1.7| 10.9| 111.6 7 7 3| -
12 9:29 | © 7.9 32.2| 8.2 0.5 11.2| 114.5 5 6 2| - 71 3.0
3.5 | 3.0 7.8| 32.2| 8.3 o0.4] 11.4] 116.5 5 6 2| -
13[ 9:39 | 0 8.2| 31.5| 8.2 o0.2] 11.3] 115.7 6 13 2| - 7
2.5 | 2.0 8.1| 31.9| 8.2| 0.7 11.1] 113.6 6 10 3| -
14[10:22| o0 7.9| 32.4] 8.3 0.4/ 11.2| 114.9 7 11 3| - 12 2.5
3.5 | 3.0 7.8| 32.5| 8.3 0.1 11.2| 114.6 6 8 3l -
15(10:56 | 0 8.3 32.5| 8.3 o0.4] 11.0] 114.4 7 2| - 9| 2.5
3.0 | 2.5 8.2| 32.6| 8.3 0.5 11.7| 120.5 6 2 -
16| 9:42 | 0 8.3| 30.1| 8.3 0.6/ 11.6] 117.5 8 14 2| - 9
2.5 | 2.0 8.4| 32.2| 8.3 0.2 11.3] 117.1 6 14 2| -
17[12:15| o 10.8| 19.5| 8.2| 0.2| 10.9] 108.9 28 34 4 - 31
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